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Full Marks : 40

Time : 2 hours
The figures in the margin indicate full marks
Jor the questions
Answer either in English or in Assamese

1. Answer the following questlons/Flll 1n the
blank : 1x7=7
T PP T R/« 1% o 1
(@) What are imbibants?
SRR R 2

(b)) Who had proposed the theory of K*
transport and hormonal regulatlon for
opening of stomata?
NG (T (IR IR ORI W ARz o
T IR ©g @A R e

(c) Yellowing of leaves and development of
chlorosis is due to deficiency of ____.
oS e R OF FIPW R g
TSRS (AT “AReAf%0 = |

(d) What is RuBisCO?

R 2
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(e)

(9)

(2)

What is the net production of ATP in an
aerobic respiration from one molecule of
glucose?

RS P S BT 37 ST [ 8 (net)
R .5 Seem w2 .

Which plant hormone is involved for
production of parthenocarpic fruits?

AR T4 Beome @WRY TR 01 wfe (2
41?

Write the name of non-protein part of an
enzyme.

TR e oA SO A BeEy 4

. Answer the following questions (any jfour :

2x4=8

ot frur e T faan (R coreen wifsi)

(@)

(b)

(c)

A9/942

Distinguish between diffusion and

osmosis.
MW S APYRST N4 BrEy

What is hydroponics? How can you
differentiate it with sand culture?

o 9 B2 e A TR [ FEF PN
FR?

What are the characteristics of Cy
plants? Give two examples of C, plants.

C, *Rwm Rz B B2 C, TRE O
Tz Tewy 740 |

( Continued )

Foy

(d)

(e)

(3)

Differentiate  between auxins and

gibberellins.
oRw ' R e Rl Teoren Sea
E2 IR

Distinguish between vernalization and
devernalization.

ORI AF TR 14w Tead 71|

3. Answer any three of the following questions :

3x3=9

o ey < R e fefbrR T fi -

(@)

(b)

(c)

@

A9/942

What is ascent of sap? Write briefly about
cohesion-tension theory of ascent of sap.
1+2=3
weEn 30 Iewerw  AfeTR ‘ceRen-
e’ T R SILF 0 0
What are micronutrients? Write about
the physiological role and deficiency
symptoms of phosphorus. 1+2=3

gz B 77 T Al gt
o T RS crl e SepniER -

What‘ is transpiration? What are the
different types of transpiration? 1+2=3

oy 6 7 20T & R o2
Write about the structure of an enzyme
with diagram.
R TA T a3 R 3dfq v
( Turn Over )
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(4)

(e) What is seed dormancy? Write about the

factors affecting seed dormancy. 1+2=3
IR e 7 Vew YoR IR R
3¢ 91 |

4. What is pentose phosphate pathway? Write
about the mechanism of pentose phosphate
pathway. 2+6=8

TR FRID Y R 2 ¢15’R TRCED 199 -
I F10 |
Or / 911

What are enzymes? Write about the
mechanism and mode of enzyme action. 2+6=8

Tz R 2 Bernes Rkt Ry 3
gl

S. What is respiratory quotient? Discuss about
the anaerobic breakdown of glucose through
EMP pathway. 2+6=8

TR e 7 2@ o TR SR TR
2 37 w1 oIfd caran ARPICH 3 1 | '

Or / 91

What is nitrogen fixation? Write about the
biological nitrogen fixation in plants. 2+6=8

TR Rewwa e R IwReea ARG e
R Racw 3 1 1
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